State of Wisconsi	in	#25	Florence	e F2 Re	hab - H	H to Keye	s Lake Dr	pation Gra	nt ∆nn	licatio	n	
Department of Natural Resources					Motorized Recreation Grant ApplicationFor: (choose all that apply)Form 8700-159 (R 02/2024)							
<u>dnr.wi.gov</u>					-	X ATV/UTV Trail Aid Page 1 of t						
Due Date: April 15								bile Trail Aid				
Notice: Completion of this form is required under Wisconsin Statutes 23.09(26) and 23.33. Failure to complete this form will result in denial of financial assistance. Personally identifiable information found on this form is not intended to be used for any other purpose. The Department of Natural Resources (DNR) may provide this information to requesters as required by Wisconsin's Public Records law {ss. 19.31 – 19.39, Wis. Statutes 23.09 (st. 19.31 – 19.39, Wisconsin's Public Records law {ss. 19.31 – 19.31 – 19.39, Wisconsin's Public Records law {ss. 19.31 –									epartment of			
Instructions: Applications may combine more than one source of the submitted for consideration of traditional ATV, UTV, Snowmobile Stewardship funding. Submit one copy of all forms and attachments necessary attachments. Send applications to your <u>Community Serv</u>						and Moto . See Pag	rized e 2 for	Category	DNR Us		Number	
Section 1: App	licant Informatio	n					L					
Applicant / Organ	nization Name							dividual other th	an authoi	rized ind	ividual to act	
	ty Forestry and P					on behalf					as applicant.	
Individual Author	ized to Act on Beh	alf of App	licant pe	er Resol	lution	Check Re	cipient N	lame (Name to	Appear o	n Checl	<)	
Mathew Gumm	nin					Mathew	Gummin	L				
Title						Title						
Recreation Man	nager					Recreation	on Manag	ger				
Address						Address						
5617 Forestry I	Drive					5617 For	estry Dri	ive				
City			State Z	ZIP Cod	е	City State ZIP Code						
Florence			WI	541	21	Florence				WI	54121	
Telephone Numb	ber		Email A	ddress	-							
(715) 528-3207	1		mgumn	nin@fl	orence	countywi	.gov					
	ect Information I	Required	for all I	Project	s				1			
Project Title								Funded Miles	New M	liles (it a	pplicable)	
F2-Town Road	HH to Keyes La						68.35					
County		Township	Range	• E	Sectior	1 1/4 1/4	1/4	GPS Coordinat				
Florence		40 N	18	OW.	30	NW	SW	Lat. <u>45.9155479</u> Long88.2964599				
Project Description Summary Florence County would like to rehabilitate a portion of trail F2 starting on the south side of Town Rd. HH (45.9155479, -88.2964599) and continues south approximately to Keyes Lake Drive (45.9079097,-88.2999473). This .61 mile rehabilitation would include raising portions of the existing dual use trail prone to flooding, widening narrow portions for year round grooming operations and brushing back the trail for increased visibility. Materials used will include 320 yards of crushed ore and 830 yards of 6" crushed gravel. The use of a dozer for widening and spreading the ore and gravel will be followed up by a grader and tractor w/wobble wheel for compaction. We are asking for 80% (\$14818.54) funding from the ATV/UTV Program and the remaining 20% (\$3704.64) from the Snowmobile Program as this does provide a benefit to this dual use trail. I certify that all maintenance land use agreements are on file. Estimated Cost												
Maintenance	Acquisition	Insuran	ice	Dev	elopme	nt Bri	dge Reha	ab. Trail Reh	ab.	Total E	Estimated Cost	

Maintenance	Acquisition	Insulance			Dridge Renab.	Trail IVenab.				
						\$18,523.18	\$18,523.18			
Leave Blank – DNR Use Only										
Applicant Certification										
Printed Name of Authorized Official				Official's Title						
Mathew Gummin					Recreation Manager					

As the applicant's authorized official, I certify that, to the best of my knowledge, the information in this application is true and correct.

Florence County Forestry and Parks

Motorized Recreation Grant Application

Form 8700-159 (R 02/2024) Page 5 of 5

Appendix B	– Require	d for	Trail/Q	ualified	d Trou	ute Re	hab, Re	route, o	or Develo	oment	
🗙 Trail R	ehab	Q	ualified T	Froute		New T	rail	🗌 Tra	ail Reroute	(Mandat	ory or Discretionary)
County			Township	Range	ΘE	Section	1/4 1/4	1/4	GPS Coord Lat. 45	inates: .915547§	9
Florence			40 N	18	OW	30	NW	SW	Long88	3.296459	9
Funded Trail Name or Number (SNARS if applicable) Has this trail ever received development or rehabilitation funds in past? F2 • Yes No Year: 2001 \$60,765,00											
F2				i.				• Ye			2001 \$60,765.00
Trail is located					ength	of Ease	ment or La	andowne	r Use Agreer	nent	Expiration Date
 Private 			c propert	У				5		years	03/20/2029
Landowner Wh	ere Trail is Lo	cated							Telephone N	lumber	
Clifford Mcla	n, Vandenho	euvel	Family 1	Member	s, Ron	Skarda	ı			(920)	737-0471
What other recr	eational trail ι	ises ai	re planne	d for this	trail?						
None											
If there are othe	r Recreationa	al uses	planned	how mu	ch of th	ne trail d	evelopme	nt/rehab.	cost will be	paid for b	y other users?
How many mile	s would be aff	fected	if this pro	ject is no	t funde	ed?	Will this re	esult in cl	osure of a tra	uil?	
		4.2								• Y	es 🔿 No
Is this a critical	section to the	overa	ll trail sys	tem?	Is the	re a reas	sonable al	Iternative	?		
		(• Yes	🔿 No	No						
			-	_							
Does any section	n of this trail		Wi	II this brid	lae rea	uire reh	abilitation	now	What	is the we	eight of your puller & drag/
contain a bridge		()		in the ne			\sim	-	No gradi	ng equipi	ment?
	0.00	0.					Ŭ	Ŭ			lbs.
Yes () No Have you contacted your local <u>DNR Water Management Specialist (WMS)</u> regarding a permit?											
<u> </u>											
~ ~											
~ ~	•	Will this project be located near or cross any wetland?									
○ Yes ● N	No Will this project involve land disturbance – including clearing and grubbing – of 1 acre or more of land? (Less than 4/10th mile for a typical trail) <u>DNR Storm Water Contact List</u>										

Trail Project Detailed Description

Florence County would like to rehabilitate a portion of trail F2 starting on the south side of Town Rd. HH (45.9155479,-88.2964599) and continues south approximately to Keyes Lake Drive (45.9079097,-88.2999473). This .61 mile rehabilitation would include raising portions of the trail prone to flooding, widening narrow portions and brushing back the trail for increased visibility. This trail is open year round to ATV-UTV traffic with winter restrictions and Snowmobiles. Materials will include 320 yards of crushed ore and 830 yards of 6" crushed gravel which are all locally sourced. The use of a dozer for widening and spreading the ore and gravel will be finished off by a grader and tractor w/wobble wheel for compaction. Land disturbance will be less than an acre and limited to only areas in need of widening. Total length 3200' x 12' / 43560 = 0.881543 acres. We are asking for 80% (14818.54) funding from the ATV/UTV Program and the remaining 20% (3704.64) from the Snowmobile Program as this does provide a benefit to this dual use trail.

Recreation Grant Project Cost Estimate Worksheet

Form 8700-014(R 02/23)Page 1 of 2For use with Recreation Grant Application Forms

Project Name:		Prepared By:	Date
F2-Town Road HH to	Keyes Lake Drive 2025	Mathew Gummin	04/11/2024
County	Project Applicant:	Landowner Name	O Public
Florence	Florence County Forestry and Parks	Florence County	Private

	 Indicate - (C) Contract , (F) Force Acct., (D) Donated 				
Ļ	DEVELOPMENT PROJECT ITEMS List by individual item or break down by Use Areas (See Item List On Back Of This Form)	Quantity	Unit of Measure	Component Costs	Estimated Total Item Cost
С	Tandem 128	51	hr	\$60.00	3,060.00
С	Tag Trailer 493	2	hr	\$26.00	52.00
С	Grader 307	2	hr	\$78.10	156.20
С	Dozer / Skidsteer 217	26.5	hr	\$53.00	1,404.50
С	Loader 207	20	hr	\$52.00	1,040.00
С	Tractor w/ Wobble Wheel 283+530	2	hr	\$44.38	88.76
С	Bale Mulcher 9284		hr	\$36.24	
С	AFE Forestry Head 932		hr	\$33.62	
С	Fecon Mulching Head 9408		hr	\$41.80	
С	ATV/UTV 9145		hr	\$19.00	
С	Mower 413		hr	\$16.00	
С	Harrow / Disc 919		hr	\$11.00	
С	Auger 915		hr	\$32.00	
С	Excavator 511		hr	\$58.94	
С	Tractor 221		hr	\$39.22	
С	Truck 101		hr	\$16.00	
С	Gravel (6" compacted to 4")	830	yd	\$8.00	6,640.00
С	Iron Ore	320	yd	\$8.00	2,560.00
С	Riprap		yd	\$20.00	
С	Concrete		yd	\$160.00	
С	Concrete (Bags)		ea	\$6.00	
С	Erosion Control (silt fence, matting, erosion fabric)		ls	\$1,200.00	
С	Grass Seed, Wildlife Mix, Roadside Mix		ea		
С	Labor	68	hr	\$51.79	3,521.72
		-		TOTAL \$	\$18,523.18

NOTE:

• For development projects, contingency and indirect costs are <u>not</u> eligible expenses.

• For acquisition projects, complete the Acquisition Project Cost Estimate Section of this form.













